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(A) (B) (EC50) 1%) (NOEC) (FEMEI 41 48) (EC50) 1%) (NOEC) (FERS 4V F) (LC50) =) (NOEC) (FERR 4V F)
103-11-7 FTHOYILEE2 —TFIILAZIIL B 2 | 4 | & 0.0018 18/ 1000 1.71 0.45 0.045 13 0.13 1.8 0.018
18127-01-0 ;;E?;f}”[f_j*ﬂ’jlz”’) 8 (FT4ILR) 2 | 4 | 0.0018 18| 1000 1.8 0.018
65405-77-8 3—Axt=)LHYFL—F (T IAILR) 2 | 4 | mh 0.0019 0.19 100 0.61 0.19 0.019 2.7 0.27
N O ~ | — ;
78-78-4 ;rj ;\/ v (Bl 2—=AFNT B 2 | 4 | 0.0023 23| 1000 2.3 0.023
Con FILEIL(C=20~22) (FJAF | .. _
68607-24-9 )P L= AR (T IAILR) 2 4 | 0.0025 0.128 50 3.48 0.78 0.156 1.39 0.128 0.0256 3.5 0.035
3—AFIJL—4—(2, 6, 6—KIJ*t
127-51-5 FILPANFY —2—-T 2 —1 #(TIA4ILN) 2 4 =n 0.0026 2.65 1000 2.65 0.0265
—AI)TH—3—T—2—F#>
IhxAeTAaREIE7ILa—
154518-36-2 JL(C=9~11.C=10%5% |#(FI+IL) 2 | 4 | & 0.0030 3.08| 1000 7.98 2.2 0.22 7.93 0.793 3.08 0.0308
B. MY E)
a—[4—(2, 4, A—RFYAF LA
Caa A —2—AJL)TT=IIL] —w .
9002-93-1  EROE A (F T L 7 2 | 4 | mh 0.0030 3| 1000] > 220 29 4.4 14 4.6 0.92 3 0.03
)
1335-46-2 AFILAF I (T ITAILR) 2 | 4 | @ 0.0030 3.04| 1000 > 942 i i 9.42 i 0.942 3.14 0.314 3.04 0.0304
3268-49-3 3__%*’ LRI 7=L)TRIS it 2 | 4 | 0.0031 0.158 50 0.994 0.158 0.0316 7.15 0.315 0.063 6.95 0.0695
109-66-0 n—RAY B 2 | 4 | mh 0.0042 426/ 1000 10.7 2.04 0.204 2.7 0.27 4.26 0.0426
— —N — 1 R
110-25-8 L}/" FI=N=FLAANT) (T IA4ILR) 2 | 4 | @ 0.0043 0.43 100 6.3 0.91 0.091 0.43 0.043 > 043]> 00043
27176-87-0 KTFOIIARE R IV BE #(TI4ILN) 2 4 th 0.0045 5 1000| > 50 5 1 3 3.3 0.66 5 0.045
e FTIRLVRIVRVEBRERIVAT |y o=
9084-06-4 SR DB A M Ltk (T IAILE) 2 4 | 0.0070 70| 10000 10.2 1.02 70 0.07
3228-02-2 A—A)ITAEN =3 —AF Tz (T IAILR) 2 | 4 | mh 0.0076 7.6 1000 7.4 25 0.25 5.7 0.57 7.6 0.076
J—IL
4940/11/8 2_01?"“’_3_“"':'#“/_ Vg (Fo4Lk) 2 | 4 | mh 0.0077 0.77 100 7.2 0.77 0.077 27 2.7 > 85| > 0.85
—EAY
78-69-3 3_’_7;”( FNAIZ =3 B 2 | 4 | 0.0089 8.9/ 1000 21.6 8.5 0.85 14.2 1.42 8.9 0.089
542-92-7 1, 3= HARVASTY # (T IA4ILR) 2 | 4 | m 0.0091 0.91 100 13 0.91 0.091 5.06 0.506 46.5 0.465
124-63-0 AR X )LR=)Loal)kR B 3 4 =x 0.011 11 1000 32 34 34 11 0.11
FIFRUYL=2, 2 —[(1—5 > > > >
(164462-16-2) [2-3895  |ILARFLSrIFILIAZ/]ICTE B 3 | 4 | m 0.013 0.65 50 37.5 0.65 0.13] > 100 4 100| 20| ~ 110] 7~ 1.1
a—h - i - i
1247790-47-1 8. 6—UAFIATIY —2— (T IAILR) 3 | 4 | mh 0.013 13| 1000 30 5.3 0.53 13 0.13
—IL
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ARHL 8 (mg/L) 2L T8(me/L) 8 f(mg/L)
/= e | RIF -
No | CASBEKES | Lo |MEHA SR |BHT TE g5 (BRE| PNECeL) %
REES 7IRITZO MR WIE g ame/l) | UFs | BHEBHEE | oy | BEEBIEE | NOEC/UF | BemtriE | (SOOULES | i@EmisiE | NOEC/UF | BIEHIHE | L SUTES | {BIEBIEE | NOEC/UF
(A) (B) (EC50) 1%) (NOEC) (FEMEI 41 48) (EC50) 1%) (NOEC) (FERS 4V F) (LC50) =) (NOEC) (FEMEI 41 48)
. AFIL(2—RUFIIL—3—FFY
41 | 24851-98-7 AR F L) T —h B 3 4 h 0.015 0.79 50 45.9 11.7 2.34 8.25 0.79 0.158 19 0.19
AR FEI2 M [XNalE
NDIE., CalsE DK AHE
42 | 1592-23-0 AW DL=DFD3Th/ 77— #(TIAHILE) 4 =x 0.019 0.95 50[ > 3.5 > 35> 0.7] > 100 0.95 0.19] > 2.7 > 0.027 EH0.95 mg/LEH
EHIBALT=ZET 4} )
EHIBRS 5
43 104-76-7 2—IFI)IAXTH—1—F—)L B 4 th 0.020 2 100 16.6 2 0.2 39 3.9 28.2 0.282
e N—(2—F73I/IF)L)—2—TF= " 7=
44 111-41-1 T I—)L g 2 ¥F 4 h 0.022 22 1000 500 62.5 6.25 22 0.22 640 6.4
45 | 10339-55-6 i’jQ_ﬁ‘i’V*”’ =T g (Fo ) 4 | h 0.024 24| 1000 25.1 6.3 0.63 23 2.3 24 0.24
46 144-62-7 ok B 4 h 0.027 27 1000 22 9.4 1.88 15 9.3 1.86 27 0.27
o 3, 7—AFIL—1, 6—FH45
47 78-70-6 Ty —g—F— B 4 i 0.028 28.8 1000 156.7 5.6 1.12 36.7 9.5 1.9 28.8 0.288
48 87-69—-4 DL—;EAEE B 3 th 0.031 3.125 100 51.404 3.125 0.3125 93.313 9.33 > 100/ > 1
49 108-91-8 ooanidyr—1—A LT3 B j,% 3 th 0.032 1.6 50 34 5.7 1.14 36.3 1.6 0.32| > 100 > 1
x.
50 | 6153-56-6 AR KFNY 3 3 h 0.037 37.8 1000 31 13 1.3 21 37.8 0.378
51 | 18479-58-8 2_'26__;_")?[’7]_’79_7_1/ #(TIA4IE) 3 = 0.038 38| 1000 80 25 2.5 38 0.38
52 | 1758-73-2 “BRIEFAILT B 3 th 0.042 2.13 50 5.77 1.154 48.96 2.13 0.426 416 4.16
53 141-78-6 EFER T F )L B 3 h 0.048 2.4 50 > > 100 > 20 2500 2.4 0.48| > 75.6 0.756
54 | 8061-51-6 TR L=1)T /R I)LRF—b B 3 h 0.050| > 500/ 10000 > 500| > 0.5
55 124-07-2 VRN B 3 4 th 0.051 51 1000 39 15.2 1.52 63 6.3 51 0.51
Con. ERAXSIFILIFLUODTIY | g = 7=
56 139-89-9 = RS S (Na) #(TIAILE) 48 3 4 0.052 10.4 200 10.4 192 1.92 331 3.31
57 121-33-5 NV B 3 4 0.057 57 1000 120 47 9.4 36.79 5.9 1.18 57 0.57
58 104-61-0 i_’\”ﬂw# IV —2=F #®(FTI+ILR) 3 4 0.059 59.6 1000 63.5 7.62 0.762 59.6 0.596
59 105-59-9 N—AFIJILSTAR/— LTI 4 /7 ;E 3 4 0.062 6.25 100 > 100 6.25 0.625 230 2.3 1170 11.7
*H
60 | 8002-26-4 k—JLiH #(TI4ILN) 3 4 9 0.062| #3 6.2 100| #3 40.7| %5 6.2 # 0620 > 11.9| > 1.19 > 78| > 0.078
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ARHL 8 (mg/L) 2L T8(me/L) 8 f(mg/L)
i g /A= e | ROE -
CASEHREE | EBRAT \yag SR Bay| T3 |BER| g5 |BEE| PNECM/L) Bz
REES B7IRITZO MR WIE g e/l | UFs | BMEBHEE | oo, | BIEBIEE | NOEC/UF | BemtrE | (SOOULES | BEBmIEE | NOEC/UF | BILHIHE | L UHES | {BIEBIEE | NOEC/UF
(A) (B) (EC50) 1%) (NOEC) (FEMEI 41 48) (EC50) 1%) (NOEC) (FERS 4V F) (LC50) =) (NOEC) (FEMEI 41 48)
109-89-7 CIFITIY B /7 *:a 3 4 h 0.084 4.2 50 54 11 2.2 56 4.2 0.84| > 100 > 1
*H
79-14-1 ErFAXS ERER B 3 4 th 0.088 4.4 50 > 32 10 2| > 32 4.4 0.88] > 56| > 0.56
78-96-6 1—F73/—2—J0/N/—)L B jfﬁ 3 4 h 0.10 108.82 1000 32.7 15.1 151 108.82 1.09 2520 25.2
*H
2605-78-9 ;é*”’wbﬁb)?t/ﬂr* #®(FTI4ILN) 3 4 h 0.10 10 100 49 10 1 150 15 > 100 > 1
1,3, 5—h )72 —2, 4,6
—kJAET1, 3, 5—RFJTOY |, — > > > > > =/ g
57— FERER (S 7
37640-57-6 o 4 6—ryFILpiraty |ETIFIE) 3 | 4 | ® 015/ 7 764 50 764 C 1.53) > 10000 g 10| Z 2| FREFERGEFREL)
(1:1)
112-31-2 1—THhF+—IL B 1 5 h 0.00014 1.45 10000 117 0.0117 1.45 0.00145
ol AFIL=T1H—R2YJAZFJ—)L .
10605-21-7 o PN 4 1 5 th 0.00031 0.0031 10 6.1 1 1 0.36 0.0031 0.0031 0.41 0.011 0.011
101-83-7 oooanty LTIy B j ;E 1 5 th 0.00032 0.016 50 23 0.016 0.0032 8 0.049 0.0098 12 0.12
*H
121-69-7 N, N—=ZSAFIILT7 =YY 2 j ;E 1 5 h 0.00050 5 10000 5 0.005 53.7 0.0537
*H
107-18-6 7YILTILa—)L B 1 5 h 0.00058 0.589 1000 5.38 0.93 0.186 2.05 i 0.919 z 0.184 0.589 0.00589
101-80-4 4, 4 —AFoF7=)Y #(FTI+ILN) /7 % 1 5 th 0.00066 0.663 1000 28 3.9 0.39 0.663 0.00663 > 52| > 0.52
x.
108-87-2 AFIILoantyy 2 1 5 h 0.00067 0.067 100 0.34 0.067 0.0067 0.33 0.033 2.1 0.021
112-41-4 KFhA—1—IT> B 1 5 h 0.00082 0.041 50, > 0.097 0.059 0.0118 0.041 0.0082
O : N — fl’:_ I
7789-12-0 NIIAXLE_ IO LB 8 1 | 5 | & 0.00092 0.046 50 12 0.25 0.05 0.48 0.046 0.0092] > 100 1
Y L= KF0
118-58-1 2—ErFOXZTEEFBAUUIL B 1 5 h 0.0010 1.03 1000 1.29 0.502 0.0502 1.16 0.116 1.03 0.0103
137-30-4 EZR (A *,’ W’f\* PIVINT R — 3 1 5 h 0.0010 0.0109 10 0.0358 0.0109 0.0109 0.048 0.078 0.078 0.57 0.101 0.101
K (2)S, S’) A
591-27-5 m—7F73/Jx/—)L 2% /7 ,.% 1 5 h 0.0010 0.05 50 62 25 5 0.447 0.05 0.01 121 1.21 121
FH
123-72-8 n—JFILTILTER B 2 5 th 0.0013 13.4| 10000 23.56 13.4 0.0134
142-82-5 n—~JH2> B 2 5 th 0.0015 1.5 1000 1.5 0.015
123-86-4 BEER D F )L B 2 5 th 0.0018 18| 10000 18 0.018
93-92-5 1—2JxZI)LIFIL=7t5—+ | (TITAHIF) 2 5 h 0.0018 18.32| 10000 18.32 0.0183
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RHL FEf(me/L) SV a%H(mg/L) B (mg/L)

No| cromEES | gngd |pRe ahe T\ g 058 %% M| o BMEmg/L) | UFs | REEBIHE | o o0meS | BIEBIEE | NOEC/UF | BMEBHE | L SUiS | MEBIEE | NOFC/UF | BEBfiiE |  CUNES | BIEBLEE | NOEC/UF s
(A) (B) (EC50) o 3 (NOEC) (FEREISME) (EC50) o 3 (NOEC) (FERIH4E) (LC50) ) 3 (NOEC) (FERASME)

82 | 101-84-8 Jr/XIRUEY 2 2 | 5 | 0.0018 1.8/ 1000 0.58 0.32 0.032 2 0.2 1.8 0.018

83 | 131-57-7 2—EFRFY —4—AbFIRY s 2 | 5 | =@ 0.0018 0.18| 100 0.67 0.18 0.018 19 0.19 3.8 0.038

)T/

84 | 68584-22-5 %;nggg%%ﬁw VIV s (FoALR) 2 | 5 | 0.0030 3| 1000 170 2.9 0.29 3 0.03

85| 107-15-3 IFLUSTIY B j ;E 2 | 5 | 0.0032 0.16 50 645 3.2 0.64 45 0.16 0.032 210 2.1

86 | 142-92-7 BFEE~NT L B 2 | 5 | 0.0040 4| 1000 12 2.7 0.27 9.1 0.91 4 0.04

87 3-4669 |AFILLHORVAY 2 2 | 5 | 0.0041 0.41 1000 > 093 0.41 0.041 1 0.1 6.4 0.064

88 | 70445-33-9 ?,_21—5;;_—11/_ AXITH= g (2o40) 2 | 5 | & 0.0042 42| 10000 42 0.042

89 | 592-41-6 1T—~Fty B 2 | 5 | H 0.0056 56| 1000, > 22 i z 22 i 22) 30| #9 3 5.6 0.056

90 | 105-87-3 BEEE7 5 =)L # (TR 2 | 5 | 0.0058 0.585 100 3.72 0.585 0.0585 14.1 0.141

(R) —2—AF)L—5—(FA/—
91 | 6485-40-1 1—Iv—2—Ag)L)orandy | #(TIAILM) 2 5 h 0.0061 6.1 1000 19 4.3 0.43 38 3.8 6.1 0.061
—2—I —-1—-%V

MR (2—EROFLTOEIL)T

92 | 122-20-3 i:j][,ﬂ,ug:huzr‘/j"n/ﬁ/—)w # /7 i‘EE 2 | 5 | & 0.0064 0.64 100 710 0.64 0.064 857 8.57 > 1000 > 10
93 | 16219-75-3 i_I?U?’_z_/”’ﬂ{”’* # 2 | 5 | & 0.0070 7 1000 4.9 0.78 0.156 3.3 1.5 0.3 7 0.07
94 | 32210-23-4 i:fttr)_bz?illzzzﬁ/\#ﬂy #(TIAILR) 2 | 5 | & 0.0086 8.6/ 1000 22 6.8 0.68 5.3 0.53 8.6 0.086
05 | 121-32-4 ;_7:)':[/?;\_4_':':”*:/&’ B 2 | 5 | 0.0087 87.6| 10000 87.6] 00876
96 | 125-12-2 r_""z__(}ij;’é';l?ﬁ“’*’ #(TIAILE) 2 | 5 | & 0.010 9.9 1000 > 24 2.17 0.217 105 1.05 9.9 0.099
97 | 111-40-0 ?:;(29\—77;?/1%)1,) —lz- 4 jfﬁ 4 | 4 | 8 0.11 5.6 50 592 10 2 16 5.6 1.12 322 3.22
98 | 124-04-9 TOEVER R 4 4 | K 0.12 6.3 50 31.3 41 8.2 85.7 6.3 1.26] > 100| > 1
99 | 1300-72-7 I;.ifiz:)"?”’&’ﬁyx #(TIAHILEN) 4 | 4 | & 0.12 12.64 100 93.77 12.64 1.264) > 318.24| > 31.8 > 408| > 4.08
100| 1117-86-8 OB —1, 2= —)L #(TIHILE) 4 4 | K 0.15 15 100 35 15 1.5 176 1.76

101| 9038-95-3 %_é’;g o})f /j;;?)lf;_r ijf/a’ #(TIAHILEN) 4 | 4 | & 0.15 1500/ 10000 1500 1.5
102| 102-76-1 FYE) o= )T7HET—h B 4 | 4 | & 0.16 165.3|  1000| > 940 463 92.6 380 100 20 165.3 1.65
103| 149-57-5 2 —TFJLATHEE B 4 | 4 | & 0.18 180/ 1000 49.3 32 6.4 106 25 5 180 1.8
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rom R#L FEF(mg/L) =P aff(mg/L) B (mg/L)
No| cromEES | gngd |pRe ahe T\ g 058 e | W e BMEmg/L) | UFs | REEBIHE | o o0meS | BIEBIEE | NOEC/UF | BMEBHE | L SUiS | MEBIEE | NOFC/UF | BEBfiiE |  CUNES | BIEBLEE | NOEC/UF s
(A) B) (EC50) E | “wvoeo) | ammati® | ecso | AOTERITM| Tqoeo) | aamatm | wcsn | AORERM Taoee) | aammsim
104| 7772-98-7 FABREE— )DL #(TI4ILEL) 4 4 | & 0.20| > 2000/ 10000 > 2000| > 2
105| 868-77-9 ; FRFSIFIL=X2TY B 4 | 4 | I 0.22 227| 1000 707 160 32 380 241 4.82 227 2.27
106| 110-97-4 SAYTaNI— LTIV = jfa 4 | 4 | & 0.27 277.7| 1000 74 125 12.5 277.7 2.78 1466 14.7
107| 91031-48-0 Eﬁggﬁ(&?__f;m)z_lﬁb #(TIAHILEL) 4 4 | K 0.30 30 100 > 300 30 3
108| 80-62-6 AFIL=AEH1)5—k B 4 | 4 | & 0.35 3.5 10 170 86 86 69 3.5 3.5 130 9.4 9.4
109| 19766-89-3 ;Ef?l*zz_l?“”\#ﬂ/ B 4 | 4 | & 0.36 18 50 500 130 26 910 18 3.6| > 100| > 1
FELE DIFRN D
110| (811-97-2) | 2-3585 l 1.1, 2=TRSTL ALY Et 4 | 4 | & 0.45 450/ 1000 980 9.8 450 4.5 *i?i;‘;ﬁ‘;@?i%
]
111| 100-51-6 RUDILTILa—IL = 4 | 4 | & 0.46 460/ 1000 770 310 62 55 51 10.2 460 4.6
112| 532-32-1 FRID L=RDJT—k B 4 4 | K 0.48 484 1000| > 30.5 < 650| < 65 484 4.84
113| 5333-42-6 f:;’iﬁ:’q —AET Y - (T IA4ILE) 4 | 4 | B 0.67 67 100 > 100 67 6.7
14| 111-77-3 3:)([/2_’( ML IREY) TS = 4 | 4 | & 0.96] > 960/ 1000, > 500 > 930/ > 93 > 960| > 9.6
115| 85-44-9 IR IS —1, 3—CFY B 4 | 4 | & 1.0 10 10 68 32 32 71 16 16| > 99 10 10
116| 115-95-7 EEEL') 1)L #(TIAIE) 3 5 | 1K 0.011 11 1000 16 9.6 0.96 6.2 0.6 11 0.11
17| 141-17-3 Z)/b'):j E%;.ﬁ;"*”lb%l 3 5 | I 0.013 13.0{ 1000 37.6 12.5 1.25 420 42 13 0.13
118| 151-05-3 2__2’_‘?)'[/_:17;21_:'\“’70':“\0’ H(TIAHILE) 3 5 | & 0.015 15.4| 1000 15.4 0.154
119| 2867-47-2 gaé/_’?’ VPRI TFIN =4S B /7 ;E 3 | 5 | (& 0.019 19.1] 1000 8.96 1.03 0.206 33 4.35 0.87 19.1 0.191
120 97-86-9 AIVTFIL=2251)5—} =} 3 5 | 1K 0.020 20| 1000 16 5.8 1.16 23 1.1 0.22 20 0.2
121| 78-51-3 YUBER) —n—TREIIFIL t 5 | & 0.021 21 1000 63 8.8 0.88 33 3.3 21 0.21
122| 111-30-8 JIEIVTILTER = 5 | & 0.022 0.22 10 1.9 0.34 0.34 8.7 0.22 0.22 8.8 1.3 1.3
123| 7452-79-1 IFI=2—AFINTR/T—r | (TITAILL) 3 5 | & 0.026 1.3 50, > 100| > > 100| > 207 616 1.3 0.26| > 100| > 1
124| 1338-41-6 YIVERVEIFHBTHI/T—hk B 3 5 | & 0.028 1.44 50, > 122 100 20 > 278 1.44 0.288| > 13.7| >  0.137
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) | pom R#L FEF(mg/L) 2O OF(mg/L) B (mg/L)
No| cromEES | gngd |pRe ahe T\ g 058 e M| o BMEmg/L) | UFs | REEBIHE | o o0meS | BIEBIEE | NOEC/UF | BMEBHE | L SUiS | MEBIEE | NOFC/UF | BEBfiiE |  CUNES | BIEBLEE | NOEC/UF s
(A) (B) (EC50) o : (NOEC) (FEFE 5} 48) (EC50) o : (NOEC) (FEFE 5} 45) (LC50) ) : (NOEC) (FEFE 5} 48)
125| 91-64-5 j]“ Joa—tRvEE: o7y B 3 | 5 | & 0.030 30.6) 1000 30.6 0.306
126 109-83-1 2— (AFIVFI/)IH/—IL B /7 ;E 3 | 5 | & 0.031 3.13 100 28.1 3.13 0.313 33 0.33 100 1
127| 5182-36-5 }zl;ff;f?);?;;“_jlz (T IHILEN) 3 | 5 | & 0.042 42.4| 1000 115 20 2 52 5.2 42.4 0.424
128| 4189-44-0 ZEIEFAILT B 3 | 5 | & 0.042 2.1 50 49 9.3 1.86 81 2.1 0.42| > 100/ > 1
129 112-05-0 /B (T I4ILEL) 3 | 5 | & 0.046 46.5| 1000 16.5 0.825 51.6 5.16 46.5 0.465
130  71-41-0 1—RVA/—)L B 3 | 5 | & 0.047 472| 10000 341.21 3.41 472 0.472
131} 9003-13-8 [O;J.;jjﬂ’; ,ﬁ):,;ct,fs)jﬁ:/;ﬁu #(TI4ILE) 3 | 5 | & 0.050 50|  1000| #4 333 5 . 625 #  6.25 95 9.5 50 0.5
132| 2530-83-8 E;giﬁ;ﬂ:}?;jgf’ﬁ 3 3 | 5 | & 0.055 55| 1000 350 130 26 473 > 100] 2 20 55 0.55
133 4500-29-2 :25,;,2/’__,(57']/\#:/”’45/):) #(TIHIE) /7 ;E 3 | 5 | & 0.055 2.76 50 10.8 2.76 0.552 140 13 2.6] > 100/ > 1
134  96-48-0 y —JFa55ky = 3 |5 | & 0.056 56/ 1000 > 500/ < < 781/< 0781 > 500| > 50 56 0.56
135| 470-82-6 ;fag[_zwz} Z';J__,]%,:T % Forn) 3 | 5 | & 0.057 57| 1000 250 16 1.6 200 20 57 0.57
136| 124-09-4 AEHY—1, 6—UAISTIY B /7 ;E 3 | 5 | & 0.070 70.7| 1000 18.6 10 2 27.2 4.16 0.832 70.7 0.707
137 999-97-3 1//15}*/3 3. 3=AFFATI 2 3 | 5 | & 0.075 7.5 100 50 7.5 0.75 80 8 88 0.88
138 108-31-6 J50—2,5—C4Y B 3 | 5 | & 0.075 75| 1000| > 150 150 30 84 10 2 75 0.75
139|  78-83-1 14VTE/—)L = 3 | 5 | & 0.080 4 50 1799 117 23.4 1100 4 0.8 1330 13.3
140| 108-01-0 N, N=SAFJLITH/—ILTIV = 37 ;E 3 | 5 | & 0.081 81 1000 65 24.49 2.45 98.37 0.984 81 0.81
141| 1477-55-0 ARXIYLUDTIY 2 /7 ;E 3 | 5 | & 0.087 87.6| 1000 28 9.8 1.96 15.2 4.7 0.94 87.6 0.876
142  75-75-2 AR R LR B R 3 5 | 1K 0.10| > 100 1000 > 100 > 1
2—AFNFFLIU-FFUSY | S S N
143| 9038-43-1 EEYMDE/AVETIUNI—T |#(TIAILL) 3 | 5 | & 0.10[ Z  1000| 10000 Z 1000| _ 1
L
144| 67701-06-8 fEfhk (C=14~18) #(TIAIE) 3 5 | & 0.10| > 1000/ 10000 > 1000| > 1
145| 693-23-2 RFHy — B B 4 | 5 | K 0.11 11.1 100 > 386 11.1 1.11
146| 134-62-3 N, N—CIF)L—m—kJLFZF B 4 | 5 | K 0.14 7.2 50| > 100 32 6.4 74 7.2 1.44) > 100/ > 1
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1RBL EBme/L) 32U a(me/L) £ 48 (me/L)
i g /A= e | ROE -
No | CASBERES | SOoL |WEA amte |Ba| s |BEE gos (ERE| PNECHe/L) %
REES B7IRITZO MR WIE g e/l | UFs | BMEBHEE | oo, | BIEBIEE | NOEC/UF | BemtrE | (SOOULES | BEBmIEE | NOEC/UF | BILHIHE | L UHES | {BIEBIEE | NOEC/UF
(A) (B) (EC50) 1%) (NOEC) (FER 51 E) (EC50) 1%) (NOEC) (GERSME) (LC50) =) (NOEC) (GERSME)
2—TFOVITIF—2—AF)LT
_ O/ —1 =R LRV EF R u
147 6-3387 || i) LB R Lt B B 4 | 5 | & 0.18 18 100, > 100 18 1.8 > 100| > 10 > 100( > 1
%
148 60-12-8 JIRFILTILa—)L 1=} 4 | 5 | & 0.28 287.17| 1000 1300 430 43 287.17 2.87
59 2—[2—(NFHU—1—A)LF
149 112-59-4 ) TRAL] TR /—IL B 4 | 5 | & 0.37 370, 1000 370 3.7
150| 461-58-5 STFITT=ZOY B 4 | 5 | & 0.50 25 50 > 1000 310 62[ > 1000 25 5 > 100( > 1
151 108-78-1 AFZY B 4 | 5 | & 0.51 5.1 10 325 98 98 200 18 18 > 3000 5.1 5.1
152| 108-80-5 AV T X—)LEE 2 4 | 5 | & 0.64 32 50 950 250.00 50 1000 32 6.4) > 100( > 1
153| 110-85-0 EXZSDY 3 37 ;E 4 | 5 | & 0.65 32.7 50 132 34.2 6.84 106 32.7 6.54| > 100( > 1
=
154| 37971-36-1 3_73’5’1_‘,?’_3_7'_‘7"1_‘/’\ (T4 4 | 5 | & 1.0 104 100 265 104 10.4) > 1042| > 1.04
Y g
155| 57-13-6 FR&R R '2 S I B I X 1.7 17500 10000 > 10000| > 100 17500 17.5
156| 112-34-5 i:)(f_j"*“/l"#’)lg R sl o2 | 4 1.3 1300/  1000] > 100 z i 100 i 10 2850 285 1300 13
157| 68130-99-4 TOVOUERYMDILR ALY | #E(TTHILE) solo2 | s> 0.80| > 8000/ 10000 > 8000 > 8
158| 64-17-5 IR/—I = s | 3 | 4 1.3 275 200 275 5463.9 546 > 100( > 1
159| 590-29-4 7)o L=FRILT—k (T4 s | 3 | 4 1.5 1560/ 1000 8400 3505 351 540 54 1560 15.6
4—AFIAUEY—1—X)LiK > >
160| 6192-52-5 . 3 1.9 98 50 304 98 20 52.9 98 20 98 0.98
~ B K0 R 4 4 - - ? ?
161] 141-53-7 FEEFT R L R s 3 | 4 5.0 500 100, > 1000 500 50, > 1000 100.00 > 1000/ > 10.000
162 107-98-2 jcff hEymzoERRTLIR B s | 3 | 4 20 20800/ 1000, > 1000 23300 2330 20800 208
163| 112-92-5 FTOBTHY—1—F—IL R s | 3 | 4 |>  0.000040| > 0.4 10000 > 0.4/ >  0.004
164| 8001-78-3 KFRIELETLH #(TI4ILE) 2 T ) N I 1.0/ > 10000/ 10000 > 10000| > 10
| — _ > N o
165 72-17-3 j';fz"" 2—EFRFLTRA B solo3 | s |2 100 i 10000 100 > 10000 i 10000 i 1000
166 106-14-9 12—EFAFLRT7IE B | 3 | 4 %gﬁraiig > 100 i 100 > 100 PR E A BR(HH =)
_ao_ T O—R=HILHRFDILAFIL & PR 5t st "
167| 9004-32-4 =T—F)LDFRYYLIE o sl 3 | 4 B2 (4 24 ) > 100 > 100 > 100 > 100 SFEMREAER (FHY)
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ARHL 8 (mg/L) 2Ty af(me/L) 8 f(mg/L)
i oo | g | R .
No | CASBERES | SOoL |WEA amte |Ba| s |BEE gos (ERE| PNECHe/L) %
REES B7IRITZO MR WIE g e/l | UFs | BMEBHEE | oo, | BIEBIEE | NOEC/UF | BemtrE | (SOOULES | BEBmIEE | NOEC/UF | BILHIHE | L UHES | {BIEBIEE | NOEC/UF
(A) (B) (EC50) 1%) (NOEC) (FEMEI 41 48) (EC50) 1%) (NOEC) (FEMEI 41 48) (LC50) =) (NOEC) (FEMEI 41 48)
168 96-31-1 1, 3—JAFILRE 3 A\ 4 A\ 1.2 125 100 > 500 125 12.5] > 500/ > 5
1—[(1—=7arRx>TAay—
169| 29911-27-1 2—A)L)AF]ITaNRY—2— | #H(TIAHILE) 5 | 4 A4S 1.2 125 100 > 1000 125 12.5) > 100| > 10 > 100 > 1
ZF—IL
170| 657-84-1 p—RILIZVRILRVEEF R L B 5 | 4 A} 2.0 100 50 310 100 20 54 i 100 i 20| > 100/ > 1
171 60-29-7 CIFILT—TIL 2 5 | 4 AN 2.0 100 50| > 100 100 20 1378.6 100 20 2560 25.6
— | > — R
172 107-43-7 2_(: JIAFINTE=F)TE #(FTI+ILR) 5 | 4 A\ 4.3 4335 1000 4335 43.4
173 527-07-1 Fr)H L=D—4)Lat+—F B g | 4 A} 5.6 560 100, > 1000 560 56| >  1000| > 100 > 100| > 1
Can 1—ARFL —2—(2—ALFT I .
174 111-96-6 RES) T 2 g | 4 A} 6.4 320 50 > 10000 5000 1000 943 320 64
175 111-46-6 CIFLUG)a—)L B 5 | 4 A4S 7.5 75200/ 10000 > 10000 > 100 75200 75.2
176| 107-41-5 72;_’)‘?”’_2’ 4—RUIVT B g | 4 AN 8.6 8690 10000 >  1000| > > 1000| > 200 3200 i 100 i 20 8690 86.9
:\\ O o) ~ \\I _
177| 34590-94-8 J/:Z'f_r'i"/a JA-NWEIATFIV 3 g | 4 )8 9.6 969 100 > 969 969 96.9 1919 191.9 > 891| > 8.91
178| 61788-85-0 R)AFIFLUKBOELHR |#(TIAHILE) 5 | 4 > 0.010| > 100/ 10000 > 100/ > 0.1
179| 8002-53-7 ERAUAHS #®(FTI4ILR) g | 4 > 1.0 > 100 100 > 100| > > 100| > 10| > 100 > 1
o, a’, o’ —JA/nRr-—1, 2, S S > > >
180| 25791-96-2 3—M)AMILM) R [w—EFOFXS B g | 4 oz 1.0 2 100.0 100 > 100| Z d 100| Z 10l > 100.0| > 1
R [AXTD (AFILIFLY)]
=, ~ R Al s .
181| 73398-61-5 ggfj&iﬂﬁﬁ/ﬁ&t/] Iz #(TIAHILE) 5 | 4 g > 1.0 > 100 100 > 0.53| > > 0.53| > 0.053| > 100| > 10 > 53| > 0.53
182| 8030-12-4 KFRILFHE #(TI4ILH) sl o4 | 5t z 1.0 i 100 100, > 100 i 100 100 >  100| > 1
. > > > > > >
183| 127-19-5 N, N=UAF L7 LT IR B A | 4 oz 1.5/ 7 1500 1000| > 500| ~ g 500| ~ 50| > 1000 > 100 Z 1500 . 15
184| 1333-86-4 Hh—RoTS5vH #(FI+ILN) | 4 > 5.6| > 5600 1000 > 10000| > > 10000]| > 1000| >  5600| > 56
185 9003-29-6 TJTUEEY #®(FI+ILR) g | 4 A8 %ﬁ%rﬁifg > 19.2 > 100 fEREEEAER(FE )
186 78-10-4 FRSIRELLSY #(FTAILR) s | 4 | 5t B A > 100 > 100 > 15 > 245 SFEMR FESLER (12)
ere—a e as s FE £t > > — s
187| 42233-75-0 RavIL=ThooFT7T—k #(TIAILE) 5 | 4 A8 4 (4 24) > 100 g 100 > 100 g 100 > 100.0 SFEMRESER (FAY)
2.2, 4,4,6,6,8,8, 10, 1 B S N
188| 541-02-6 O—TFTAAFIILLHARALAX | #(TI4ILN) U4 4 Af %ﬁ(ﬁg) >  0.012 ~0.012 0015 >  0.016 d 0.014 SFEPRERER (PR YY)
b " = =
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AR Ef(me/L) 2Ty af(me/L) 8 f(mg/L)
— R3&
= ol 7 ﬁ%'li o 1%9&& PNEC(mg/L)
No CASERES ME % aN it -1y 5 N it w"&E
7RI R WIE e g/ | UFs | BIEBIEE | cooepie | BIEBIE | NOEC/UF | BEEBIHE | L vopec | BIEBIE | NOEO/UF | Bimtrim | L CSVLES | BrEBLEE
(A) (B) (EC50) : (NOEC) (FERS S ) (EC50) o : (FER S E) (LC50) ) : (NOEC) (FERS 4 E)
189 110-27-0 AVITRELN=TSTH/T—k B CA S I ) %[S%Frﬁifg > 005 > 0.5 g 1000 STEREFER (1H=)
_07- AFTFYoBEETOIR =1, 2, 8| = BR 2 5 A R R A AR ) =
190| 11099-07-3 ML DT R IAE B (TIHILL) nolo4 | B2 (FE 24) ELLE ELLE 0.2 STEPRAESER (FA=)
a, ¢, o’ —=JTanr-1, 2, B
191| 31694-55-0 3—3~'M)l/|~')x[w—t|~“l:l#~> ®(TI4ILN) 5 | 4 &\ %ﬁ(é‘g) > 100 [BREEER(FE YY)
—R)(AFPTFLY)]
192| 867-56-1 FRrYH L=L—598—k B AN 4 AN %Eg;g > 5850 IESEICGEE)
193| 627-83-8 IFLIY)IA—ILOATFTS—k B | 4 &\ %ﬁ%g;éfg 0.3 B REEEAER (¥R )
o 2,6,10,15, 19, 23—~%¥ PR A& iy = 1
194 111-01-3 AF LTRSS B 5 | 4 A4S B (4 24 > 100 g 100 > 100 100 SFEMREAER (FAY)
195 112-27-6 K)IFLS)a—)L B # | 5 7AS 6.9 69800/ 10000 39459 620 69800 69.8
196| 61790-12-3 b—JL M ABRAES #(TI4ILE) VAN 5 Af 7.5 750 100 > 1000 750 75| > 1000 > 100 1000| > 10
197 629-11-8 1, 6—~"FHUT4—)L B 4 | 5 A 11 1180 100 5940 1180 18] > 500| > 5
198| 100-97-0 ;1/3’ 5, 7T=ThITHTITY B # | 5 A\ 41 41000 1000| > 100 i 100 36000 g z 19.82 41000 410
199| 8007-43-0 VIVERVHEIEAT R TIV #(TI4ILH) sl 5 | 5t 0.0011| Z 0.1 100 g z 0.011
200| 64742-52-5 KFENEBEFITTUORAFMEBL |#(TI4ILE) VA 5 VAN 0.010| > 100/ 10000 100| > 1
201| 26266-58-0 ;f{"'”ﬁgt/”’tgja)lx #(TIAILE) # | 5 A4S 0.86] > 86.7 100 > 88.1 > 86.7| > 8.67 99.7| > 0.997
202| 126-30-7 ?u?_”‘*”’_t 3—JH/A 7 s 15 | & |7 10|~ 1000 1000 > 1000 > 1000 > 100l © 1000 f 10
ot —Ib = = _
203| 142-91-6 AV7aEIL=~"XHTh/7—k B # | 5 ZAS 11 > 10000/ 10000 > 054/ > 0.0054 10000| > 10
204 ,2\53”13:1:)’;7_'\77“’#'37': 3 # | 5 A 1> 100 100 g 75 i 75> 100| > 10 200 > 2 SIEMRERER (FAY)
(ZILH(C=18~50. 0k
BN (RIF(TILXIL (DFED)
#HT5.>907I)LHY) (C=1
8~50)))EFHN LTS, " > - "
205 ([(—BERREARDT Y 2 s | 5 | 4 1> 100 100 g 100| . 10| > 100| > 10 S 100 SFEFRESAER (F0Y)
DJv——hDj&léﬁJZJiﬁp‘&ﬁJz
W) DIKFAL 2 - RIS £ A ] D
EMHiERICE ]
e 2—[2—(2—ARFIITREY)
206| 112-35-6 TR ]TS/—L B g | 5 &k 25> 500 200| > 500 > 500| > 50 10000| > 100
_A0— [2—(2—ARFIAFILIFF e
207 | 25498-49-1 VAF LIRS TOI —IL #(TIAILE) # | 5 AN 10/ > 10000 1000 > 10000 > 100
208| 107-88-0 1, 3=J32 %=L B s 5 | 4 10/ Z 1070 1000 > 1070 . 1070 i 107




ARHL 8 (mg/L) 2Ty af(me/L) 8 f(mg/L)
/= e | ROE -
No | CASBERES | SOoL |WEA amte |Ba| s |BEE gos (ERE| PNECHe/L) %
REES B7IRITZO MR WIE g e/l | UFs | BMEBHEE | oo, | BIEBIEE | NOEC/UF | BemtrE | (SOOULES | BEBmIEE | NOEC/UF | BILHIHE | L UHES | {BIEBIEE | NOEC/UF
(A) (B) (EC50) 1%) (NOEC) (FEMEI 41 48) (EC50) 1%) (NOEC) (FERS 4V F) (LC50) =) (NOEC) (FEMEI 41 48)

o 1, 8—FA V30— —AIILHR Bk PR B & ip = e
209| 111-20-6 (R - 42\ ] B A\ 5 A B2 (FE 24) > 100 > 100 B RS ER (AR )
210| 36653-82-4 1—~"FXHYTHY/—)L B 4 | 5 28 %ﬁrﬁrﬁi{g > 0.4 B REEEAER(FE )

o IF—)L—2—AF—)L—1, 83— |y, — B st T "
211| 6413-10-1 SAXYSS o FhT—k (T IA4ILE) s 1 5 | & B2 (FE 24) > 100 100 g 99 > 100 PREGER(FEZ)
212| 10025-78-2 =1Eik 5y #®(FTI4ILN) A | 5 AN %ﬁFEFrﬁiig > 110 > 110 R A ER(FE )

D
S s (5 BR 5 = > ? .
213 75-79-6 K)oog(AFIL) Sy #(TI+ILE) 4 | 5 A8 %ﬁ(é‘%) > 118 118 117 126 B REEEAER (¥R )
214 121-91-5 172V B B sl 5 | s %ﬁr‘%ﬁ; > 996 Z 969 > 952 BR B EER (HH =)
215| 39255-32-8 IFIL=2—AFI)ILRUA/T—h B A\ 5 A %ﬁ[ﬁrﬁifg > 100 > 100 > 100 B REEEAER(FE )
216| 127-08-2 H)H L=7t5—k B # | 5 A4S %ﬁ[ﬁrﬁifg > 919 > 9927 fEREEEAER (¥R )
3—TJx/FIRUTIL=3—(2,

ol 2—o/AAEZ)L) —2, 2—D 4 " _

217| 52645-53-1 A g il 2 1 s | 4t 0.0000032 0.00032 100 > 0.9 0.014 0.0028 0.0003 3.2E-05 0.0025 0.00066 0.000132
7—h
o N, N=DAFILTrSTHY —1 7=
218 112-75-4 LT a B o5 1 s | 4 0.000035 0.35| 10000 0.51 0.00051 0.35 0.00035
2, 2—UAFIL—3—AF TV
E<oa[2. 2. 1]ATAEDT
/—ILD1: 1 RISERZ E R
_ 7 (60%LLE)ETH. 2, 2—DH " _
219 4-1977 P —8 e AFUFE S HOl2, 2 1 5 | 4+ 0.000085 0.085 1000 23 0.19 0.019 0.076 0.0076 0.085 8.5E-04
2. 1INTHETT/—ILDRIG
S (D FEDIL460LLTTHD
LDIZRS,)
B pE =° N R =
220| 61791-26-2 ;5557"’#"’7‘“031'"#/“3 #®(FI+ILR) /7,% 1 s | & 0.00010 11 10000 2.35 0.00235 1 0.001
FH
1,1,3, 3—F+5TFI)IL—1, 3
221| 3669-02-1 —ER[(1—FAXYIRTIIL)AX #(TIAILE) 1 A 4+ 0.0001| > 1| 10000 > 1> 0.001
VAPZS VE /B,

A EX(4—AVLT7Hhooank "
222| 5124-30-1 Fo1— 1 L) AR 4 1 g | 4 0.00012 1.2| 10000 1.2 0.0012
223 91-17-8 FAheROQ+242LY 2 1 & | 4t 0.00015 0.015 100 0.051 0.015 0.0015 0.23 0.023 0.37 0.0037
224 75-08-1 IRVTFA—IL 3 1 5 | 4t 0.00018 0.009 50 3 0.3 0.06 0.077 0.009 0.0018 2.23 0.0223
225! 110-86-1 wll) DAY B 1 | 4t 0.00020 0.01 50 0.12 0.01 0.002 180 22 4.4| > 100| > 1

I =:\‘ :s‘
226| 128-04-1 7:\';)_7'\1* DAFINITF AR 4 1 | 4t 0.00026 26| 10000 0.67 0.0067 26 0.0026
227 122-40-7 TIWTARTILTER B 1 g | 4 0.00028 0.014 50| > 15 0.21 0.042 0.28 0.014 0.0028 0.91 0.0091
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EHL B (mg/L) 2o a%8(mg/L) £ $B(mg/L)
= R3§ I s
No | cAsEmES WE % oYL Al g5 |RER] PNECEL) £050/UFe %
2 < £/ME(me/L) | UFs RILBIEE | oD isnasy | 1BIEBIEE | NOEC/UF | BMEBIE | | Doonel, | EIEBIE RIEBME | \crsmmsy | RIEHELE
(B) (EC50) 1%) (NOEC) (FEMEI 41 48) (EC50) (NOEC) (FERS 4V F) (LC50) (FERR 4V F)
< A ESETXR
A 0.00030| = 0.00307 0.039 0.010 0.010 0.0207 0.0039 0.0951 N -CPNEGE & I
228| 25154-52-3 J=ILIJz/—)L 2 1 5 | 4
< < HREEEEEEE
0.00039 0.0039 0.039 0.010 0.010 0.0207 0.0039 0.0951 A A FNCPNECE B 1!
229| 10022-68-1 FHEE AR L () - MK F04 #(TI4ILN) 1 a4t 0.00042 0.021 0.12 0.021 0.0042 1.17 0.281 3.36
_Eq_ 6—IhF¥—2, 2, 4—K)AF "
230 91-53-2 L—1 2—SERTE S 3 1 g | &t 0.00064 0.032 0.7 0.22 0.044 0.032 18
2(Ff=F4) —AF)L—4, 6(F
231| 106264-79-3 -1x2, 6) —ER(AFILRILIT 7 3 1 | 4t 0.00073 7.3 1000 7.6 1.9 0.19 0.9 7.3
Z)L)—1, 3—RUEIITFTIY
232| 1678-91-7 IF)Looantdgy # 1 a1 4+ 0.00075 0.75 1000 0.63 0.22 0.022 067 0.75
233| 123-66-0 Hh7aVvEETFIL #(TIA4ILN) 1 | 4t 0.00089 8.94| 10000 8.94
234 100-52-7 RNOXT7ILTER B 1 | A 0.0010 1.07 1000 32.0 2 0.2 50 1.07
1A EXQ2—IFIAFZTHY—1—A 4, —
235| 142-16-5 L) =2l T —k #®(TI4ILN) 1 | 4t 0.001 0.1 100 0.1 100
236| 13189-00-9 FER=ERAARH)S5—}k #(TI4ILN) 1 | 4t 0.001 0.1 100 0.56 0.1 0.01
1—[(38R, 3aR, 7R, 8aS) —
3, 6,8, 8—TrIAFIL—2,
237| 32388-55-9 3,4,7,8, 8a—~"XHEkrFO— 4 2 a1 4+ 0.0014 0.0716 > 0.0716 0.0716 0.0143 0.21 0.087 0.184| > 0.00184
1H—38a, 7— A2 /7 AL >—5
—AIIL]TR/>
i 4, 4 —voandHyr—1,1— "
238| 843-55-0 ST — L # 2 g | 4 0.0018 1.8 1000 3.64 0.92 0.092 1.81 1.82
239 111-71-7 NTaF—)L B 2 | 4+ 0.0027 0.27 100 2.9 0.27 0.027 413 12
240| 590-86-3 3—AFITHEF—)L #®(FI4ILN) 2 | 4+ 0.0032 3.25 1000 112.78 71.89 7.19 177 3.25
241 108-46-3 LYILS Y B 2 | 4t 0.0034 0.172 97 97 19.4 0.172 26.8
242 111-13-7 2—XDR/ B 2 g 1 4+ 0.0036 36| 10000 36
1,3, 5—FJR(CAFIILTZI/T
243| 15875-13-5 AEJL)ANFHERO—1, 3, 5— | (TI4I/LN) 2 L) 0.0040 0.4 100 17.7 0.4 0.04 62.6 100
rJT7Y
244| 135-19-3 2—FJ+—)L B 2 | 4t 0.0040 4 1000 2.1 0.58 0.116 5.3 0.69 4
245| 5392-40-5 hS—IL B 2 | 4t 0.0041 4.1 1000 103.8 3.1 0.62 6.8 1 4.1
246| 1321-74-0 CEZIRUEY # 2 | 4t 0.0041 4 1000 1.7 0.81 0.162 2 0.353 4
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R E#B(me/L) 2L T8(me/L) 8 (mg/L)
i wo |emope | ROB .
No | CASBERES | SOoL |WEA amte |Ba| s |BEE gos (ERE| PNECHe/L) %
REES B7IRITZO MR WIE g e/l | UFs | BMEBHEE | oo, | BIEBIEE | NOEC/UF | BemtrE | (SOOULES | BEBmIEE | NOEC/UF | BILHIHE | L UHES | {BIEBIEE | NOEC/UF
(A) (B) (EC50) o : (NOEC) (FERS S ) (EC50) o : (NOEC) (FER S E) (LC50) ) " (NOEC) (FERS 4 E)
247 96-96-8 2——rO—p—TF7=TYV % /7 ;E 2 g | 4 0.0044 4.4 1000 12 0.47 0.047 4.4 0.044 41 0.41
*H
e 2= AFNRUEFT—)L(Al%E 2
248| 123-15-9 AT LLILT LSER) B 2 5 | 4t 0.0047 0.47 100 6 0.47 0.047 15 1.5 18.8 0.188
249| 110-83-8 voanity B 2 s | 4t 0.0058 5.8 1000 3.6 067 0.134 2.1 0.74 0.148 5.8 0.058
250| 25339-17-7 A4)Th/—IL B 2 s | 4 0.0059 5.9 1000 6.8 1.7 0.34 3.5 0.4 0.08 5.9 0.059
251 100-69-6 2—EZILEYDY 2 2 | 4t 0.0065 6.5 1000 62 27 5.4 9.5 0.9 0.18 6.5 0.065
Con voanityr—1, 3—9OAI)LE " 7=
252| 2579-20-6 2 AF LT 2 o <4 2 g | 4 0.0065 65.4| 10000 56.7 13.7 1.37 65.4 0.0654
o (E) —1—ArFS—4— (70N |y, —
253| 4180-23-8 TS 1A RSB #(TIHILE) 2 | 5 | 4t 0.007 7 1000 9.571 0.479 4.25 0.425 7 0.07
254| 119-36-8 ff*”’zz_t"n*”\//T_ B 2 | & | & 0.0079 0.79 100 1.6 0.79 0.079 > 100 > 0.1
255  142-62-1 NE XU B 2 g | 4t 0.0088 88| 10000 88 0.088
2, 2" —EX(4 —EFAFL —
256 79-94-7 3.5 —oJOoE7Jz=)L)7A 2 2 AN 0.0091 9.19 1000 9.48 1.98 0.396 7.87 0.8 0.16 9.19 0.0919
AN
257| 106-24-1 To5=A—IL B 2 | 4t 0.010 1 100 13.1 1 0.1 10.8 1.08 22 0.22
258| 576-26-1 2, 6—x%L/—I)L 4 2 g 4+ 0.01 1 50 45 2 0.4 111 1 0.108 15.4 0.154
259 84-74-2 IR —1—AI)L=D55—Fk B 2 g 1 4+ 0.01 0.1 10 252 0.3 0.3 2.99 0.33 0.33 0.48 0.1 0.1
1—FRILI)L—4— (4 —EFOF
260| 31906-04-4 =4 —AFIRUF)) —3— B 3 5 | 4t 0.011 11.8 1000 25.4 5.95 0.595 15 1.5 11.8 0.118
oanitty
261 504-29-0 2—TFI/EYSY 2 jfﬁ 3 | 4t 0.011 11 1000 12 2.1 0.21 35 0.35 11 0.11
*H
N —[83—(UAFIFZ/)TAE -
262| 6711-48-4 JLI—N, N=AF)L7ansy — | % (FI74IL8) /,% 3 s | 4 0.012 1.2 100 7.9 1.2 0.12 50.3 0.503 48.9 0.489
1, 3—U73Y ”
263| 55066-48-3 3_1’:?271/5_711“"\/9/ 8 (FTAILR) 3 | o | ot 0.013 13 1000 16 6.25 0.625 3 0.13
264| 105-37-3 JAEAVEETFIL #(TI4ILN) 3 a1 4t 0.013 1.3 100 133 1.3 0.13
CAFIL=2, 5—F4FYSHn0
265| 6289-46-9 AXHY—1, 4—CHAILRXY | #(TI4HILN) 3 s 1 4t 0.016 1.63 100 51.3 1.63 0.163] > 100| > 10 > 500| > 5
7—*
Al TeEROFL ST ILARY R " _ _
266| 1333-16-0 2 291 —JLF] 3 3 g | 4 0.016 0.84 50 22.1 10-20 2-4 8.7 0.84 0.168
267| 106-22-9 3:17__7?_"?:”’71_77_6_1/ B 3 s | 4t 0.017 17.48 1000 17.48 0.175
rel— (1R, 2S, BR) —2—4AYJ
268 89-78-1 AL —5—AF)Looanty | #(TI4ILN) 3 s | 4t 0.017 17.6 1000 16.2 5 05 71 7.1 17.6 0.176
/=)L
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) | pom R#L FEF(mg/L) =P aff(mg/L) B (mg/L)
No| cromEES | gngd |pRe ahe T\ g 058 e M| o BMEmg/L) | UFs | REEBIHE | o o0meS | BIEBIEE | NOEC/UF | BMEBHE | L SUiS | MEBIEE | NOFC/UF | BEBfiiE |  CUNES | BIEBLEE | NOEC/UF s
(A) (B) (EC50) o : (NOEC) (FERS 418 (EC50) o : (NOEC) (FERSI 4148 (LC50) ) : (NOEC) (FEFE 5} 48)
269| 140-11-4 RV II=F7tE—F = 3 | 4 | 4t 0.018 0.92 50 110 52 10.4 17 1.7000 4 0.92 0.184
270| 112-24-3 ?/;,?};;3\7754?:\*79’_1’ 8- 2 /755 3 | 4 | 4 0.019 0.95 50 3.7 0.95 0.19 31.1 1 0.2 570 5.7
271| 1071-93-8 TOEVERUERS DR i 3 | & | 4 0.019 1.97 100 9.19 1.97 0.197 z 106 i 10.6 > 100| > 1
272 119-61-9 RoJIx/Y 2 3 | | 4 0.020 0.2 10 3.53 1 1] > 10 0.2 0.2 10.9 0.54 0.54
273| 108-99-6 S—AFIEYDY 2 3 | | 4 0.02 1 50 320 1 0.2 34 1 0.2 144 1.44
274| 123-92-2 EFEE A RUFIL = 3 | 4 | 4 0.021 215 1000| > 80 z g 80 i 8 42 4.2 21.5 0.215
275| 108-59-8 ROVEEDAFIL 1= 3 | & | 4 0.021 21 1000 386 20 2| > 1000 > 100 21 0.21
RILLTILTER-Tz/—)L-1,
276| 57214-10-5 $%—7I:|/>~“)x9>7syié (T I4ILEN) <IN ) N ) S 0.025| #9 259 1000| #5 204 10 1| #9 298| # 298 #1259 #0259
277 110-62-3 SEB7ILTER (T I+ILEN) 3 | | 4 0.027 27.9| 1000 68.7 18.8 3.76 64.6 2.5 0.5 27.9 0.279
278| 75-64-9 tert—JFILT I gt j ;ﬁ 3 | | 4 0.028 28| 1000 16 136 1.36 28 0.28
279| 108-83-8 2, 6—UAFIL—A4—A~"TRI)Y | #(TITAILE) 3 | o | 4 0.03 30| 1000 46.9 3.55 0.355 37.2 3.72 30 0.3
280| 75-66-1 )zb_"?“’jo':"b_z_?j__ (T I+ILEN) 3 | & | 4 0.034 34| 1000 24 6.41 0.641 6.7 0.67 34 0.34
281| 928-96-1 cis—3—AFtr—1—F—JL = 3 | 4 | 4 0.038 381| 10000 381 0.381
282| 1979/9/4 JOEZ+ B 3 | 4 | & 0.051 51 1000 48.7 22.7 2.27 51 0.51
283| 89-05-4 :I_gfﬁj;’ SR HELTIIAL (T I+ILEN) 3 | 4 | 4 0.062 6.25 100 8.1 6.25 0.625 63 6.3 > 100| > 1
284| 88-44-8 }21/;_7:%; TS AFARLELR B 3 | 4 | 4 0.064 3.2 50 > 10 i g 10 i 2 21 3.2 0.64| > 10| > 0.1
285| 92-70-6 B —EROXI+IIEE 2 3 | 4 | 4t 0.068 68| 1000 64 6.8 1.36 33 10 2 68 0.68
286| 111-14-8 TR 1= 3 | & | 4 0.074 748 1000 56.4 32 6.4 72 17.9 3.58 74.8 0.748
287| 107-31-3 FEEAFIL #(TI4ILEL) 3 | 4 | 4t 0.078 7.81 100 1062.7 7.81 0.781] > 500 > 5
288| 1999/4/7 m— kLA JLES = 3 | 4 | 4 0.082 82| 1000 17 4.6 0.92 75 9.7 1.94 82 0.82
289| 520-45-6 3;7”“_6_" Fl—2-tH B 3 | % | % 0.088 8.48 100 28.4 8.84 0.884 >  88.4|>  0.884
290| 110-16-7 TLAUEE = 3 | | 4 0.089 89| 1000 74.35 11.8 2.36 42.81 12 2.4 89 0.89
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R E#B(me/L) 2oy aff(mg/L) 8 (mg/L)
i g /A= e | ROE -
No | CASBERES | SOoL |WEA amte |Ba| s |BEE gos (ERE| PNECHe/L) %
REES B7IRITZO MR WIE g e/l | UFs | BMEBHEE | oo, | BIEBIEE | NOEC/UF | BemtrE | (SOOULES | BEBmIEE | NOEC/UF | BILHIHE | L UHES | {BIEBIEE | NOEC/UF
(A) (B) (EC50) 1%) (NOEC) (FEMEI 41 48) (EC50) 1%) (NOEC) (FERS 4V F) (LC50) =) (NOEC) (FEMEI 41 48)

291 137-16-6 N—S9oAaq4/)LYI)Las U Nalg B 3 g 1 4+ 0.092 9.2 100 79 9.2 0.92 29.7 297 107 1.07

292 75-29-6 2—4~OQ7Oossy # 3 g | 4 0.095 95.9 1000 500 74 7.4 103 10.3 95.9 0.959

293 111-27-3 1—~FH/—)L B 3 a4t 0.097 97.2 1000 79.7 11.3 1.13 201 20.1 97.2 0.972
D=L b—ILEATH R

o (e —EFO—w—EFOF>—KR| 4 = > > >

294| 52625-13-5 UIAES AFILIFL D #(TI4ILN) 3 1 4+ 0.10| Z 10 100 > 100 > 100 d 10| Z 1
I—TJL

295| 116-53-0 2—AFILT B EE B 3 | 4t 0.10| > 1000/ 10000 > 1000| > 1

296| 298-12-4 GIAXYIVEE B 4 a1 4 0.12 6.4 50 33 8.4 1.68 51 6.4 1.28] > 100| > 1

297 98-86-2 7EcDT/Y B 4 g | 4+ 0.15 155 1000 86.4 24.8 248 528 52.8 155 1.55

298 75-18-3 B AFIL #(TI4ILN) 4 g | 4t 0.16 8.3 50 23 14 2.8 29 8.3 1.66 213 2.13

299 75-50-3 RJAF LTI B jfﬁ 4 o 4t 0.16 8 50| > 100 56 11.2 28 8 1.6] > 100| > 1

*H

300| 17194-00-2 A VAU NN #(TI4ILN) 4 | 4t 0.18 18.1 100 > 1.92 i i 1.92 i 0.192 18.1 1.81 > 3.5 > 0.035

301| 616-45-5 2—FEOykry B 4 | 4t 0.22 222 100 > 500 22.2 2221 > 500 > 50 6782 67.8

302| 102-01-2 T ErEREE T =)~ B 4 | 4t 0.29 297 1000 318 180 18 116 11.6 297 2.97

303| 137-32-6 2—AFIILTZ—1—F—)L B 4 s | 4t 0.29 29 100 > 353 29 2.9 > 173 > 17.3 > 120| > 1.2

A NJR[(THAY—2—AY)TUF= w

304| 22984-54-9 NAESTAFIL) S B 4 g 1 4+ 0.30 30 100 94 30 3l > 120| > 12 > 120| > 1.2

305| 687-47-8 BT FIL B 4 o 4t 0.32 320.0 1000 3500 320 32 683 68.3 320.0 3.2000

306| 109-87-5 DARF AR #(TI4ILN) 4 | 4t 0.69 6990| 10000 > 1200 12 6990 6.99

307| 108-20-3 AV7aE)LT—FIL 3 4 a1 4+ 0.78 786 1000] > 97 z i 97 i 9.7 190 19 786 7.86
. A — .

308| 143-22-6 ;J_I__:j'ljja JA—LRITFIL B a1 4 | 4t 1.7 86 50| > 920 86 17.2 2210 z 100 i 20 2400 24
FrYSHL 1,1, 3—RYAFY

309| 128-44-9 —3H—AR2Y[dIAVFT7I—IL| (T ITHILE) a1 A | st 1.8 18300 10000 18300 18.3
—2—AF

310 71-23-8 1—20/8/—)L B o 1 s | st 4.5 4555 1000 9170 2000 200 3025 303 4555 456
3—EFAFL —2, 2—TAF)L

311| 1115-20-4 JAaE)L=3—tFaxL -2, 2 B g 1 4 | At 5.6 559.6 100 2000 870 87 559.6 56 > 1039.9| > 10.4
—OAF)LTAEAF—F

19/21




RHL FEf(me/L) SV a%H(mg/L) B (mg/L)

= oy | ROE "
No | cAsERES | SRAT |pEs st |EaT| TS [BEE gos BEE) PNECHe/L) %
’ T | mEEs i T E PRI MR WSE e | Urs | memmm | EOSOUR | gemm | noeour | msmm | EO0UURe | gemm | nocour | mwmm | OO0V | imemm | noeo/ur )
(A) (B) (EC50) i) (NOEC) (FERASME) (EC50) i) (NOEC) (FBRASME) (LC50) ash (NOEC) (FBRASME)
—60- 2,2 —[FFIER(THV -2,
312| 112-60-7 1SN S TR —IL R CA ) S ) 7.7 7746/ 1000 7746 77.5 > 10000| > 10
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